sumpo SUMPO EPD
WEPD s 7umsss (o)

FHRES ¢ JR-AJ-24060E

VERIFIED

BKThRKREZ KKK %

Yamalto

PVRAF-IbE &4
YAMATO STEEL Co., Ltd.

SUMPORIESANINTOI 5 L
—BHEEEAY AT IR S HEEEHE
HR#ABTHREXAMHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

= L BRHAZ 8

High-Spec H-Beams

BEHAL

1t

BEXREFE

ClER 88t W
BUEEPE (RAMHBERE. FATRIOEX, REORE)
BIUMEERE

mOBR, FTEMAEKR-FET
WEESA N AGE (EIETH)

FRAFAE 1 YHS-SS400,YHS-SN400B,
YHS-SM490A,YHS-SN490B

ERME-RE (BALImm,t=1RZ)
H150(t7)x B 150(t10)~H912(t18)xB302(t34)

mEWaDhEE

VILRF—ILrK &4t
RERBEEEY REEHSF
TEL:079-273-0715
http://www.vamatokogyo.co.ip/steel/

ZRES JR-AJ-24060E
BAPCRES  PA-180000-AJ-06

PCR#% R AsMmES (RREE)
NEI=! 2025%2A1H

MIALSEE 2025418148
WREEA X ESRBIREEA
RILES JV-AJ-24060
HWAIEZEAR 2030218138
PCRLE1-DENE

ZFEAZ 2023FE5810H

ZER MEF &t
TFERF
B=EIRIAE
NERIREES Wt EiE
1ISO140255 K TNIS021930(Z 2 -REE R UT-FDIRIILT
MREE
ORER WAL ER

Y AT LRI EB - BEENORIOH AL, YATARI 4T LBEEED
ZEERH.

FH&ES ¢ JR-AJ-24060E



SuMPO

1 |MEPD

IAPAN

VERIFIED

SuMPO EPD
T1TNREES

(EPD)

F5FES ¢ JR-AJ-24060E

SUMPOERIESANI SO S

—RRAEFEIEAYAT T IR EHEE A

RRATRERXAMET-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

O317Y1 )V ET ISR

0% 20% 40% 60% 80% 100%
SUEZE) IPCC 2013 GWP 100a 540 | kg-CO.eq
[y (e 0.50 | kg-SO.eq
ERHEE 0.031| kg-Sheq
m [AL)RAH R = m [A2)E% m[A3]&EE
. _ [D)fiERE
AR 5H Bify aFt @z [A2]E@X | [A3)4E SEEBE DU IR
SURZED kg-CO.eq | 5.4E+02 8.7E+01 2.4E+01 4.3E+02 2.2E+02
AV BREE kg-CFC-11eq| 1.1E-04 3.7E-06 3.3E-10 1.1E-04 4.1E-08
[iz{c2(d kg-SO.eq | 5.0E-01 7.7E-02 7.6E-02 3.5E-01 34E-01
B AKIESR kg-SO.eq | 3.3E-01 5.5E-02 2.9E-02 2.5E-01 2.5E-01
HALFEAZIT Y kg-C:Hseq |  1.4E-02 4.0E-04 1.6E-04 1.4E-02 4.8E-02
BELCFYEEFEIAL) kg-CeHeeq | 6.3E-02 5.8E-04 1.2E-04 6.3E-02 -2.1E+00
BE(CEME(EM) kg-CeHeeq | 1.6E-03 1.0E-04 7.9E-05 1.4E-03 -2.2E-04
KEERES kg-CeHseq |  6.9E-01 2.7E-02 3.9E-06 6.6E-01 -5.3E+00
M A REE kg-CeHseq | 1.6E+01 6.6E-01 6.4E-05 1.6E+01 6.4E+00
EREL kg-PO.*eq| 8.2E-05 1.1E-06 2.5E-10 8.0E-05 4.1E-03
4 #uF A (HER) m?/4 4.9E+00 1.1E-01 3.0E+00 1.7E+00 0.0E+00
THF A EE) m*/5 1.1E-01 2.8E-03 6.0E-02 4.7E-02 0.0E+00
BRHE kg-Sbeq 3.1E-02 2.8E-02 1.0E-04 2.8E-03 -5.2E-01
@ 35 = £k ©) v IR
I5H Bify mE-mE (ERBS) Bifif
EEEFREER 1.4E+01 kg f73 99 %UT
FEFERREIRILF- 2.0E+02 kg h-mRY 1.0 % LT
FEBERREIRILF- 8.6E+03 M) NUHY 5.0 %LU
HARRER 1.5E+02 kg Sy 1.0 %BUT
BEAREIRIY- 2.2E+03 MJ 704 1.0 %UT
WIKDHE 9.5E-02 m? EUITY 0.5 % LAT
BEH, Co2(bRERmR), AR, FH5E | 5.3E+02 kg - %
R, BU, 44.7MY/kg, el SEBA AR TALE- | 2.0E+01 kg - %
B, BRMERAASY, XK, AEE| 3.0E-08 kg - %
@ EZEYESEIE IR
I5H Bify
BEREZEY 1.7E+01 kg
BEEEY 3.0E+00 kg
—MREEZEY) BY 1.3E-10 kg
EEXEFEZEY 1BYY 3.0E+00 kg

HIATHAINCBIBEEYBERLTVET,



SuMPO EPD SUMPOEBRIESNITOII

-“E“Mﬁ’D _ — R EE AP AT IR A e
1 EPD  s7imsss ero) AT R 163
VERIFIED KANDA SQUARE GATE

Zi#HFES © JR-AJ-24060E https://ecoleaf-label.jp
GOHETEHERICEATZEMEHR
ORIEFZZL LT IS Q 20915(CE IR ROV Y1 VR EF ML, LEEORID)ICZOEEZEEH LR, UTMIILHRIE, HREETS
rDORTFTY TR B R R MERFM RS ZORTITRURICESTLIYE () OESHTHESINS, HEIFERLEVYIII
K(393% (FHEILIS Q20915(C fELN, 2018FEEDEANT -5 (Ht ‘HAKINER, AF- FUT1IIHS) &EH)
Q@#EEYFYUAILPCRICHE ST,
B@—RTF-IDEEE(I2023ETH B,
@BEBHRBEALIES, —MESEEE 10T, 20185FE] 2EALE,
ORI RUMECET2ERR D . BiteLT-9Y-b (SDS) hS5|ALEEERZEHLE,

©-1.Z 0t DIRIFERIE IR
-1ISO1400188E TiH CEEL TS,
EREEYLEEOFALRIETHTEELNS,

©-2FEMECRHIZIER

I5H CAS No. ENE
o2 7439-96-5 FETeEmEE
EUIF> 7439-98-7 FSBTEEEE
20/ 7440-47-3 FHEZEE/EE
2, J1V 7440-02-0 FHBTEEEE

DERLEZRT-9DZR A
IDEA ver3.1.0%E AL, %2759 F0OT-7(CRL T, BARSKMEBRDT-YEH W,

®fFE

O -IHEDH L. PCRELVETE - EEREESRL LI,
OLLERIDOVNTUE, BEE - EERRCHRESNLRGERH LS EICLNRHONE A
(BEBEURL : https://ecoleaf-label jp/regulation/)
E#k&E\m= ¢ JR-AJ-24060E



